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QUESTION 1

T/F: Hypothermic hearts are unresponsive to defibrillators or pacer stimuli.
A. True

B. False

Correct Answer: A

QUESTION 2

Regarding epinephrine, which of the following statements are true? (Choose three.)
A. increases coronary perfusion

B. IV bolus dose is 1 mg g 3? minutes

C. treatment for hypotensive ventricular tachycardia

D. increases cerebral blood flow during CPR

Correct Answer. ABC

QUESTION 3
SIMULATION
What is the principal difference in the way children and adults breathe?

A. The chest wall of the child is softer and the muscles less welldeveloped. Therefore, infants and children rely more
heavily on the diaphragm for breathing than adults.

Correct Answer: A

QUESTION 4
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This patient suddenly collapsed and is poorly responsive. The patient has a weak carotid pulse. A cardiac monitor,
oxygen, and an intravenous line have been initiated. The code cart with all drugs and pF transcutaneous pacer is
immediately available. Next you would

A. Initiate dopamine at 10 to 20 ug/kg per minute and titrate heart rate

B. Give atropine 1 mg IV up to a total dose of 3 mg

C. Initiate epinephrine at 2 to 10 ug per minute and titrate heart rate

D. Initiate dopamine at 2 to 10 ug/kg per minute and titrate heart rate

E. Begin transcutaneous pacing

Correct Answer: E

QUESTION 5

FILL BLANK

A 60-year-old patient presents with a blood pressure of 80/40, heart rate 200, and respiratory rate 24. The nurse has
placed oxygen on the patient. The following rhythm is seen on the monitor. What is the treatment?

A. Synchronized cardioversion Synchronized cardioversion. (The rhythm seen above shows supraventricular
tachycardia.)

Correct Answer: A
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